Wakepotentials and Impedances
of thin Electrodes

80 mm long dielectric with infinitely thin conducting
strip.
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80 mm IOIlg dielectric Wlth 1nf1n1tely thln Conducting Stfip 1 14:51:25 20073e= 1,0000e-12 [As], [xuyzlloss= ¢ 13,79089e-18, —4,9705=-15, -5,5527e—15) [WAs]
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80 mm long dieleCtriC Wlth 1nf1n1tely thln Conducting Stfip $Thu Mar 1 16:06$37 2007 1,0000e-12 [As], [xyzlloss= { 26.2137e-18, -26.2137e-18, -16.2793e-15) [VWAs]
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80 mm long dielectric without conducting strip.

xext: ( 0.000E+00, 5.050E—-02) .

yext: ( 0.000E+00, 5.050E—02) GdfidL

zext: ( —5.000E-02, 5.000E-02) -
, __—— — Material boundaries i
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1 16518526 20073e= 1,0000e-12 [As], [xyzlloss= ¢ 29,3410e-12, —6,6461e-15, -Z2,0944e—15) [WAs]

80 mm long dielectric without conducting strip.
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éJhu Mag- 16319308 200738= 1,0000e-12 [As], [xyzlloss= ¢ 39,3410=-18, -6,6461e-15, -2,0944=—15) [WAs]

3 —

GdfidL, Im({£y) (windowed)
Cr, Ayrd=0 0,0000, 10,1000e-3 dIml

5

ri B0,0e-3, £t} 1,0=-3, L 20,0=-3
weler o, yele: 1

e

Transverse Wakepotential,
transverse Impedance

[ N S

* M

e B B |

p—




80 mm long dieleCtriC Wlthout COIldllCting Strip. by Har 1 16:12110 2007:= 1,0000e-12 [As], [xyzlloss=  63,2453e-18, -69.2453e-18, -5,6416e—16) [VAs]
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by Har 1 16312549 2007:= 1,00002—12 [As], [xyzlloss= ( &9,2453=-18, -69,2453e-12, -5,0416e—150 [WAs]
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